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o afd R RIER A A FR k2| k | pliE |BF 2| RE|IFIE|IFIE| AN & & R &
£ 5| pY | ER (5%20°C)

C CMS C mg/L | mg/L | mg/L | mg/L | mg/L | mg/L mg/L(%3 3 [ #ic% e =)
kg (& Lg | ROL # 2/3 109:45| 20.6 17.5 | 7.4 5.3 9.5 | 38.9 | 10.0 |D.<0.0(. D.<0.0|D.<0.004
KUGE L 24 RO2 # 2/3 109:50 | 18.4 19.1 | 7.6 7.2 7.1 | 36.0 | 10.6 |D.<0.0(. D.<0.0|D.<0.004
oo JE [#k v £ RO3 # 2/3 | 10:25 | 17.2 17.6 | 8.0 5.4 103 520 315 |D. <0.0(.D. <0. 0| D. <0. 004
U R [T e | RO4 # 2/3 110:40 | 17.8 17.9 | 7.9 3.9 109 480 500 |D. <0. 0. D. <0. 0[D. <0. 004
B | fABAE | ROD # 2/4 | 09:25| 18.3 17.6 | 7.4 6.4 6.1 | 26.6 | 7.3 |D.<0.0(. D.<0.0|D.<0.004
By FlELg 3] R0O6 # 2/4 109:38 | 17.0 17.3 | 7.4 8.4 4.2 | 13.8 | 4.1 |D.<0.0( 0.01 |D.<0.004
I mEM S -4 ROT # 2/4 109:43 | 16.7 18.2 | 7.3 2.4 35.8 | 93.6 | 38.2 |D.<0.0(.D.<0.0f 0.05
TR & AR | RO8 # 2/4 110:00 | 16.6 17.8 | 7.4 5.1 20.6 | 67.6 | 31.0 |D.<0.0(.D.<0.0f 0.05
~ el < iR | RO9 # 2/4 | 10:38 | 17.1 18.2 | 7.5 7.3 13.8 | 38.2 | 11.3 |D.<0.0(. D.<0.0|D. <0.004
< fyu)dogrig RI10 # 2/4 1 10:51 | 17.6 17.9 | 7.4 7.6 11.5 | 24.2 | 10.6 |D.<0.0(. D.<0.0|D. <0.004
FrOEE|F &y RII v 2/10 | 09:48 | 15.8 14.2 | 7.3 9.3 0.030 [N.D.<2\.D.<3.4 11.2 |D.<0.00[ 0.006 D.<0.0009
FrEE|E B3Ry RI2 v 2/10 | 10:05 | 16.7 15.8 | 7.2 8.5 0.035 |N.D.<2\.D.<3.§.D.<2.50.0006| 0.006 [D.<0.0009
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C CMS C mg/L | mg/L | mg/L | mg/L | mg/L | mg/L 3 | &% 2 =)
~igiE|H Lxy RI3 e 2/24 109:45 | 18.3 18.7 | 7.8 1.2 0.091| 3.3 9.6 | 23.1 |D.<0.00] 0.006 [D.<0.0009
Z ww |= #3%y R14 # 2/24 110:10 | 17.6 17.3 | 1.9 9 0.042 |N.D.<2| 13.9 | 3.4 [D.<0.00] 0.005 D.<0.0009
S REEE R17 £ 2/24 | 10:20 | 18.0 17.2 | 8.3 9.3 N.D.<2| 5.3 9.0 [D.<0.00] 0.005 |.<0.0009
R E | ARAR | RIS # 2/24 | 10:30 | 19.0 17.1 | 8.1 9.3 N.D.<2| 5.3 2.2 |D.<0.00] 0.004 |D.<0.0009
T EUE PR GEY R21 £ 2/25 | 10:15 | 23.4 19.9 8 9.2 0.045 |N.D.<2| 3.4 2 |D.<0.00] 0.006 |D.<0.0009
TWEGE W~ A | R22 # 2/25 | 10:05 | 22.5 18.4 | 1.8 9.5 0.062 |N.D.<2§.D.<3.4 1.9 [D.<0.00] 0.004 . <0.0009
HEGE | 49 R23 £ 2/25 1 09:40 | 23.1 19.6 8 9.3 N.D.<2| 3.7 |.D.<2.9D.<0.00] 0.005 D. <0.0009
WEGE WY A | R24 # 2/25 109:50 | 23.3 19 7.4 8.7 N.D.<2| 7.9 |.D.<2.9D.<0.00] 0.006 . <0.0009
L R]LFH] R3 £ 2/11 | 10:30 | 17.5 14.1 | 7.6 9.3 0.034 [N.D.<2\.D.<3.q.D.<2.4D.<0.00f 0.006 D.<0.0009
B EIE|F 3| R32 # 2/11 | 09:58 | 19.3 13.9 8 9.3 0.041 |N.D.<2|.D.<3. §.D.<2.9D.<0.00] 0.006 . <0.0009
AP |FLB~| R33 e 1728 | 10:35| 17.8 16.5 | 6.8 9.1 0.017 |N.D.<2§.D.<3.4 4.7 |0.0007|D. <0.0(D. <0.0009
AP | B R34 # 1728 | 09:55| 18.3 15.8 | 1.5 9.4 0.023 |N.D.<2).D.<3.4 2.8 |0.0008| 0.003 D.<0.0009
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# 5| p# | R | ng/L(%3 2 | gnho/ ] #1 K # | &

J#Es e =) |em/25CIE/100m] mg/L | mg/L | mg/L cm NTU |% = #)| mg/L | mg/L | mg/L
kg 1%L | ROL E 2/3 1 09:45 |D. <0.002 317 B.20%10° 7.16 | 17.4 >30 6.5
RiE] #F4 RO2 E 2/3 1 09:50 |D.<0.002 590 . 00%102 14.9 | 49.2 >30 12
v iE (4T iE4 RO3 E 2/3 | 10:25 | 0.02 800 . 80%10° 34.6 | 76.8 4 150
o E|T #W% R04 E 2/3 | 10:40 | 0.05 614 |[.40%10° 22.6 | 49.9 4.2 140
Bl g ?Wﬁ R0O5 E 2/4 109:25 | 0.07 679 p.90%10* 1.33 | 66.4 >30 5.5
B B 2] RO6 E 2/4 109:38 | 0.23 346 . 10%10* 1.19 | 30.5 >30 6.8
I Y+ - 4 ROT E 2/4 109:43 | 0.06 467 #.90%10° 9.5 36.6 | 17.8 40
ERRIE W R )}% R0O8 E 2/4 1 10:00 | 0.08 418 1. 40%10° 6.56 [ 26.7 | 15.3 31
AR o B 3;7}% R0O9 E 2/4 110:38 | 0.01 724 1. 30%10° 8. 31 120 >30 8.3
<yl LgriEs R10 E 2/4 | 10:51 | 0.02 766 p. 90%10* 6.79 133 >30 2.8
AT K|+ &%y RIL v 2/10 | 09:48 |D.<0.0( 0.003 | 137 [.40%10° 0.01 10.9 >30 13 12.3 1 0.037 | 0.026
FrREE|E &%y RI2 e 2/10 | 10:05 |D.<0.0(D.<0.0( 87 [.80%10° 0.02 4.3 >30 3.5 9.0 | 0.015(0.033
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mg/L(%e3+ 3 iho/ =R e . :, . 45 i EE

J#Es e =) |em/25CIE/100m] mg/L | mg/L | mg/L cm NTU B e =) mg/L | mg/L | mg/L
< F R |H LRy RIS 2 2/24 | 09:45 |D.<0.0( 0.004 | 293 B.10%10° 0.56 | 7.3 | 17.9 26 39.0 | 0.162 | 0.100
Zwe |z #3%y RI4 & 2/24 | 10:10 {D.<0.0( 0.002 | 167 [.80%10" 0.07 | 3.7 >30 3.9 17.8 |1 0.017 | 0.008
S REEE R17 & 2/24 | 10:20 |D.<0.0(D.<0.0( 164 p.50%10" 0.04 | 4.4 >30 5.7 0.013 | 0.005
X FE | ARAR | RIS & 2/24 | 10:30 |D.<0.00 0.002 | 124 B.70%10° 0.02 | 3.4 >30 2.6 0.004 | 0.001
B EUE P EY R2L & 2/25 | 10:15 |D.<0.0( 0.004 | 135 . 70%10° 0.03 | 10.4 | >30 1.9 10.3 | 0.107 | 0.015
WEGE s~ M | R22 & 2/25 | 10:05 |D.<0.0(D.<0.0( 114 |.90%10° 0.01 | 10.5 | >30 2.0 7.1 10.010 | 0.003
Bkl 49 R23 & 2/25 | 09:40 {D.<0.0( 0.003 | 176 [.50%10" 0.06 | 17.5 | >30 2.5 0.063 | 0.010
FHGE R A | R24 & 2/25 | 09:50 |D.<0.00 0.004 | 172 . 90%10° 0.29 | 16.3 | >30 2.6 0.126 | 0.022
L3 #]L% % R3l # 2/11 | 10:30 |D.<0.0(D.<0.0( 97 |.00%10° N.D.<0.0f 7.7 >30 1.2 6.8 |0.015 ] 0.002
BEE|ERP| R32 & 2/11 | 09:58 |D.<0.0(D.<0.0( 147 B.90%10° 0.02 | 6.9 >30 2.1 13.2 | 0.007 | 0.003
Arie |FlLB R33 s 1/28 | 10:35 | 0.004 | 0.002 | 95 [.70%10° N.D.<0.0f 14.1 | >30 4.9 7.8 [D.<0.00]0.0004
A | & R34 & 1/28 | 09:55 [D.<0.0( 0.002 | 100 B.40%10° N.D.<0.0[ 9.0 >30 3.7 8.7 |0.012]0.003




